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3.2

(extended metropolitan region / mega-urban region)

3.2

1)

2)

3)

4)
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250
190
(Accidental Sampling)
1
)
11 10
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(Academic staff)
(Non-academic Staff) 20
2
i
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250
34
( ) (Pretest)
(Closed-ended
questions)
(Open-ended questions)
)
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351

(Input-output Analysis)

(Basic Activities)
(Non-basic ~ Activities)

Induced Income
(Multiplier)

(Value Added Ratio)

(Economic Base Theory)
2



Value
Added Ratio

1 2 M 2 1 2 m
KO Lin, v, 0l D2 Dm
7 Lan V2 D2 D2 Din
Y m vn Dn 02 Dm
Multiplier ~ SD, 2 2Dm

= ] (Value Added Ratio)

1

(Muttiplier)

[\ 1100] « [Lm /1007 x Vi
B ( =13)



3.4

N\
\. (student) (employee) (resident)
1
2
3
4
5
6
I
8
9
10
il
N =10 =10 =1
10 10 1
. = Me = 2Damn M, =
(Multiplier) =T 10 -1
Dan =
Dan =
Dm =

(Value Added Ratio)
2541 (
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1) (Direct Impact)

2) (Indirect Impact)

3) Induced Impact

(Multiplier)
1
)
(dsm
(X
Ym = (d]py
(dm)
(Ys= Direct + Indirect + Induced
Income)

Ys = Yam + dm¥an+ danYan+ ... + 'm¥m (1)



0<di< 1 = =00
(1) dm

a»Ys = Nm+ damvam+ ddy, + .. + d"mYam (2)
(1)-(2)
Ys - dmYs = Ym- dmYm
(1-dJY. = (1 - dgYm
Yo7 1 Yam
(l G
Xg// = | (dJ (Xn
(1- <u
HRELLE < 0y
1 - dm
M ()
W (M)
Mm = dsm (3)
1 - dm
(den)
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(d}
(Ye= Direct + Indirect + Induced Income)

¥6 = Yan + dmy¥em+ o + dilmYem (5)
O<dm< 1 = =00
(7)
m (MeJ
Mm = (6)
(¥ (¥
Yt = ¥ 8+ Ye (7)

35.2
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